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Max. Marks: 50
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neral lnstructlons.

“ Gel . Please read the instructions carefully.
: 5. This Question Paper consists of 21 questions in two sections: Section A & Section B.
3. Section A has Objective type ques'gions whereas Section B contains Subjective type questions.
4 out of the given (5 + 16 =) 21 questions, a candidate has to answer (5 + 10 =) 15 questions in the
allotted (maximum) time of 2 hours.
: 5. All questions of a particular section must be attempted in the correct order.

6. SECTION A — OBJECTIVE TYPE QUESTIONS (24 MARKS):
: (i) This section has 05 questions.
(i) Marks allotted are mentioned against each question/part.
(iii)y There is no negative marking.

(iv) Do as per the instructions given.

7. SECTION B — SUBJECTIVE TYPE QUESTIONS (26 MARKS):
(i) This section has 16 questions.
(i) A candidate has to do 10 questions.
(iii) Do as per the instructions given.
(iv) Marks allotted are mentioned against each question/part.

SECTION A: OBJECTIVE TYPE QUESTIONS

1. Answer any 4 out of the given 6 questmns on Employability Skills. (1 x 4 = 4 marks)
Q). Ay Trrad is an aspect of non-verbal communication where physical gestures are used. 1
a) Body language O b) Feedback O
©) Culture O ! d) Feelings O
()i e means managing yourself with the people and resources around you. 1
a) Self-Motivation O b) Self-Confidence O
¢) Self-Control O d)  Self-Management O
i i v o refers to trusting one’s capabilities and potentialities to achieve the necessary goal e
objectives and challenges in life and being worthy of leading a happy life. i 1.
a) Self-Motivation O : b) Self-Confidence O :
C) Self-Control O d) Self-Management 3 O !
(V) oaTha s o oot il controls the flow of data from the input devices to memory and from memory to.
output devices. ‘ e
a) RAM () b) - Monitor @)
¢) CPU O d) Printer Qg \ :
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a) Innovation Ay

» ) ¢)  Economic development
Expand the term CNG.

a) Common Natural Gas

c) Compressed Nature Gas

(vi)

O
®)
O

; the .process of strengthening the skills and knowledge of budding and

éhtrepreneurs by hand holding them during their entrepreneurial journey. ’
b) Entrepreneurship development

d) ~Social development

b) ' Costly Natural Gas
d) C:cv)mpresse,d Natural Gas

existing

00. 00.

2. Answer any 5 out of the given 6 questions (1 x 5 = 5 marks)
O] Which of the following is not a Sustainable Development Goals? 1
a) Zero Hunger : O b) No Gadget O !
©) Good Health & Well Being : O d) Quality Education O
(i) The Member States of the United Nations have a’gre'ed to achieve ... SDGs
by 2030. : 1
a) 16 O by 20 O
o910 O d) 17 )
(iii) ' Price comparison webS|tes falls under which category? " ; 1
a) 'NLP ’ : O e 'b) * Computer Vision O
~ ©) Data Science L 2 O d) Machine Learning O
(iv) - Which among the followmg isa system of Programs and Data- Structures that mimics the operatlon of the
human brain? e : : . : : R
a) Intelligent Network O I : b) Déciéion Support Systerri O :
©) Neural Netwojr,k il L g O d) Genetic Programming O
(y) The'job -of .. . llliiiil. Iayer |s to acqunre data and feed it to the Neural Network. No processing
occurs in this.layer. - - 1
: a)  Input k O 'b) - Hidden 4 O
: " c) Butput 3 O : d)  Last O
(i) Which of the follownng is not part of the 4Ws frameV\;ork? : ; b B
; “a) Which s @ 'b)  Who O
e o  What O d) Why O
3.  Answer any 5 out of the glven 6 questlons- ! ‘(L % 5 = 5 marks)
0] Name any 2 sources for_ collectlng data.:»j‘f" : ¢ ‘ % : s
a) - Surveys and Rumours O © ' b) AI models and applications O
oo Imagnnatlon and Thoughts O s . d) Web scraping and sensors @) '
G- In’a system’ map, |f an arrow goes from X:tp Y wnth a ~(m|nus) sugn what does thls mean7 1
; - a;', If X increases, Y decreases | O © 5 b)) The direction of relation is opposite O Y
SRR SHXA increases, Y also i increases: o : d) “Itis a bl dlrectlonal relatlonshlp O ,f
5 (iii) ; Who 1s the father of Artlf’ClaI Intelhgence? : e
7 “a). John McCarthy « s ) " b) Mark ;ykerberg
o)) O : “d) Nlck Bostrom ' S

Alan Turmg
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oo o 'Nnrﬁc any one atqndv‘nnmge of Al : 1
S a) Increased Autpmation @) b) Increased Productivity @)
3 e
¥ ¢) Smart Dccislon,Mﬁklng O d) Expensive Technology D)
; ification, you teach the machine to perform with what kind of data? 1
, v In class
s a) Labelled O b) Large C
¢) Cornplex O d) Continuous O
: () Which of the following carries the signal from the brain or spinal cord to the organs, glands or muscles to
carry out voluntary or involuntary movement? 1
a) Sensory neuron O b) Motor neuron O
¢) Interneuron O d) Neuron O
4. Answer any 5 out of the given 6 questions. (1 x 5 = 5 marks)
() Forany Al project to be efficient, the training data should be ... : 1
a) Relevant O b) Fast O
o Small O d) Inefficient O
(iij Data features refer to the .............. Wnh of data you want to collect, 1
a) Relevance O b) Size O
o) Type O d) Size O
(([]) B RO R ! is a rule-based Al model which helps the machine in predicting what an element is with
the help of various decisions (or rules) fed to it. 1
a) Decision Trees O b) Machine learning O
¢) Deep learning O d) Regression O
(iv) s IS @ program that allows the computer to simulate conversation with a human being. 1
0 a) Chatbot O b) Augmented Reality O
c). Virtual Reality O d) Internet of Things O
(V)i s . are loosely modelled after how neurons in the human brain behave. 1
a) Neural networks O b) Biological networks O
€) Artificial networks O ~d) Wireless networks O
(Vi) - Autonomous Weapons are also KNOWN as .....ecieivericinnees . 1
a) Killer Robots : : O b) “ Automatic Robots O
- ©) Micro Robot i O d) All of these O
8. Answer any 5 out of the given 6 questions. v (1 % 5 = 5 marks)
) A self-driving car identifies objects in front of it USING ... domain of AL
a) Computer Vision O : b) - Data Science
) NP O d) Data Mining
L S . is the aim of GOAL 13 of the SDGs. - :
‘@) Climate Action ; @, - b) Life Below Water
©) ‘Life on Land O d) Gender Equality . =
: b : 4 i
& } © :
£ ™ . ;
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Bvetis fhézgtarting node in a decision tree. :
\_ -a) Leafnode \\.\, /" 'b) Branch node
c) Rootnode =y d) Decision node

(iv) Each node of the hidden layer has its ow St R A I algorithm which it executes on the data received

by the input layer. SEIEC
a)  Machine learning
© c) Rule based

'y

00
O0.

b) Machine fed
d) Al

00

() ¥t I e T L model works on cdntinuous data.
a) Classification 7 b) Regression

¢) Modularisation d) Reinforcement

00

(V)i il e does not come under Data Acquisition.
a) Sources of data ' b) 4Ws problem canvas

d) ‘Web Scraping

00.00.00.

00

c) Data features

SECTION B: SUBJECTIVE TYPE QUESTIONS

Answer any 3 out of the given 5 questions on Employability Skills. (2 x 3 = 6 marks)

6. Mention any 2 advantages of written communication. 2
7. Mention any 2 benefits of self-management. 3 2
8. What is an operating system? Give 2 examples of an operating system. 2
9. Mention any 2 challenges of Entrepreneurship. 2
10. State any 2 basic components of a Green Economy. 2
Answer any 4 out of the given 6 questions in 20-30 words each. (2 x 4 = 8 marks)
11. Mention any 2 advantages of using Al 2
12. State the ways in which you can collect data. 2
~..13. Name any 4 data visualization techniqués. 2
: 14... What is a Learning Based Al Model? Explain with an example. 2
15. Mention 2 pc)infs to remember while making a decision tree. - 2
2

16. What is Clustering? Give an example.

Answér any 3 out of the given 5 questions in 50-80 words each. (4 x 3 = 12 marks)

- 17.: Explain the different features of Neural Networks. 4
~18. Explain the 3 domains of Al 4
a4

" 19. ' Consider the following scenario/ situations: : ,
An IT company received a lot of support tickets for their operations. These tickets are categorized into. ,’.\.‘ ;
Urgent, Important and Business as usual. The issue faced by the operations is that they are not able to 1NN
-classify them properly which leads to delay in response. ‘ £ N
Can you think of a classification system to solve this problem? Create a 4W Project Canvas for this purpose.. any

e Learning approacrl. o

20 What are the differences between Rule based approach and Mac:nin

' 21. - Explain the various stages involved in Al project cycle. -
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